

ABC Bid Data

OSSIPEE 41916 **NON-FEDERAL**

PROJECT: OSSIPEE

STATE PROJECT NUMBER: 41916

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN:

November 21, 2019,

SCOPE OF WORK:

Bridge Preservation efforts for NH28 over NHRR in Ossipee (Br. No. 194/146).

COMPLETION DATE:

October 16, 2020

Carroll

LOCATION:

Awarded To: PIPER, R. M. INC.

Amount:

Award Date:

141 SMITH BRIDGE RD

PLYMOUTH, NH 03264-0490

\$539,848.70

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIPER, R. M. INC. 141 SMITH BRIDGE RD, PO BOX 490, PLYMOUTH NH 03264-0490	\$539,848.70	А
COLEMAN ALVIN J & SON INC 9 NH ROUTE 113, CONWAY NH 03818-9505	\$563,828.00	В
BUCK, T. CONSTRUCTION, INC. 302B AUBURN ROAD, TURNER ME 04282	\$669,210.00	С
EVROKS CORPORATION 23 INDUSTRIAL DRIVE, NORTHFIELD NH 03276	\$680,664.10	D
CPM CONSTRUCTORS INC 30 BONNEY STREET, PO BOX B, FREEPORT ME 04032	\$798,947.00	E

				F	°S&E	141 SMIT	, R. M. INC. H BRIDGE RD , NH 03264-0490	9 NH F	LVIN J & SON INC ROUTE 113 NH 03818-9505
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	CY	490.00	\$30.00	\$14,700.00	\$20.00	\$9,800.00	\$20.00	\$9,800.00
304.301	CRUSHED GRAVEL	CY	36.00	\$100.00	\$3,600.00	\$40.00	\$1,440.00	\$50.00	\$1,800.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	946.00	\$85.00	\$80,410.00	\$110.00	\$104,060.00	\$120.00	\$113,520.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	7.00	\$350.00	\$2,450.00	\$190.00	\$1,330.00	\$190.00	\$1,330.00
403.6	PAVEMENT JOINT ADHESIVE	LF	6,042.00	\$0.40	\$2,416.80	\$1.10	\$6,646.20	\$0.50	\$3,021.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	611.00	\$1.00	\$611.00	\$3.50	\$2,138.50	\$5.00	\$3,055.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	27.00	\$300.00	\$8,100.00	\$190.00	\$5,130.00	\$150.00	\$4,050.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	9.00	\$300.00	\$2,700.00	\$190.00	\$1,710.00	\$510.00	\$4,590.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	288.00	\$4.00	\$1,152.00	\$10.00	\$2,880.00	\$20.00	\$5,760.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	889.00	\$2.50	\$2,222.50	\$28.50	\$25,336.50	\$35.00	\$31,115.00
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	923.00	\$5.00	\$4,615.00	\$9.00	\$8,307.00	\$8.00	\$7,384.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	22.00	\$65.00	\$1,430.00	\$50.00	\$1,100.00	\$50.00	\$1,100.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	472.00	\$30.00	\$14,160.00	\$30.00	\$14,160.00	\$30.00	\$14,160.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	61.00	\$300.00	\$18,300.00	\$300.00	\$18,300.00	\$500.00	\$30,500.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	38.00	\$550.00	\$20,900.00	\$400.00	\$15,200.00	\$760.00	\$28,880.00
520.01	CONCRETE CLASS AA	CY	16.00	\$1,500.00	\$24,000.00	\$750.00	\$12,000.00	\$910.00	\$14,560.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	20.00	\$1,750.00	\$35,000.00	\$1,000.00	\$20,000.00	\$1,200.00	\$24,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	27.00	\$100.00	\$2,700.00	\$100.00	\$2,700.00	\$50.00	\$1,350.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	481.00	\$50.00	\$24,050.00	\$27.00	\$12,987.00	\$25.00	\$12,025.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	365.00	\$25.00	\$9,125.00	\$40.00	\$14,600.00	\$15.00	\$5,475.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	82.00	\$100.00	\$8,200.00	\$130.00	\$10,660.00	\$100.00	\$8,200.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	420.00	\$35.00	\$14,700.00	\$30.00	\$12,600.00	\$50.00	\$21,000.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	240.00	\$50.00	\$12,000.00	\$40.00	\$9,600.00	\$75.00	\$18,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$4,500.00	\$9,000.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	88.00	\$10.00	\$880.00	\$8.00	\$704.00	\$9.50	\$836.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00	\$28,000.00	\$28,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00
618.7	FLAGGERS	HR	500.00	\$30.00	\$15,000.00	\$40.00	\$20,000.00	\$35.00	\$17,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$38,000.00	\$38,000.00

					PS&E		PIPER, R. M. INC. 141 SMITH BRIDGE RD PLYMOUTH, NH 03284-0490		COLEMAN ALVIN J & SON INC 9 NH ROUTE 113 CONWAY, NH 03818-9505	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$4,400.00	\$8,800.00	
628.2	SAWED BITUMINOUS PAVEMENT	LF	80.00	\$3.00	\$240.00	\$2.00	\$160.00	\$5.00	\$400.00	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	11,600.00	\$0.20	\$2,320.00	\$0.56	\$6,496.00	\$0.30	\$3,480.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	24.00	\$5.00	\$120.00	\$10.00	\$240.00	\$15.00	\$360.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,118.00	\$0.75	\$1,588.50	\$3.25	\$6,883.50	\$1.50	\$3,177.00	
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	160.00	\$6.00	\$960.00	\$7.50	\$1,200.00	\$5.00	\$800.00	
645.531	SILT FENCE	LF	160.00	\$4.00	\$640.00	\$3.00	\$480.00	\$5.00	\$800.00	
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,500.00	\$11,000.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	

Totals:	\$451,290.80	\$539,848.70	\$563,828.00
Alt. Totals:			
Totals:	\$451,290.80	\$539,848.70	\$563,828.00

				F	°S&E	302B AU	STRUCTION, INC. BURN ROAD R, ME 04282	23 INDUS	ORPORATION TRIAL DRIVE ELD, NH 03276
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	CY	490.00	\$30.00	\$14,700.00	\$15.00	\$7,350.00	\$14.00	\$6,860.00
304.301	CRUSHED GRAVEL	CY	36.00	\$100.00	\$3,600.00	\$70.00	\$2,520.00	\$170.00	\$6,120.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	946.00	\$85.00	\$80,410.00	\$99.00	\$93,654.00	\$130.00	\$122,980.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	7.00	\$350.00	\$2,450.00	\$500.00	\$3,500.00	\$700.00	\$4,900.00
403.6	PAVEMENT JOINT ADHESIVE	LF	6,042.00	\$0.40	\$2,416.80	\$1.20	\$7,250.40	\$0.50	\$3,021.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	611.00	\$1.00	\$611.00	\$4.00	\$2,444.00	\$5.00	\$3,055.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	27.00	\$300.00	\$8,100.00	\$450.00	\$12,150.00	\$350.00	\$9,450.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	9.00	\$300.00	\$2,700.00	\$500.00	\$4,500.00	\$700.00	\$6,300.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	288.00	\$4.00	\$1,152.00	\$12.50	\$3,600.00	\$18.00	\$5,184.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	889.00	\$2.50	\$2,222.50	\$28.00	\$24,892.00	\$45.00	\$40,005.00
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	923.00	\$5.00	\$4,615.00	\$18.00	\$16,614.00	\$8.00	\$7,384.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	22.00	\$65.00	\$1,430.00	\$40.00	\$880.00	\$173.00	\$3,806.00
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	472.00	\$30.00	\$14,160.00	\$45.00	\$21,240.00	\$34.30	\$16,189.60
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	61.00	\$300.00	\$18,300.00	\$430.00	\$26,230.00	\$373.00	\$22,753.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	38.00	\$550.00	\$20,900.00	\$725.00	\$27,550.00	\$978.00	\$37,164.00
520.01	CONCRETE CLASS AA	CY	16.00	\$1,500.00	\$24,000.00	\$1,000.00	\$16,000.00	\$1,100.00	\$17,600.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	20.00	\$1,750.00	\$35,000.00	\$1,160.00	\$23,200.00	\$1,800.00	\$36,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	27.00	\$100.00	\$2,700.00	\$150.00	\$4,050.00	\$100.00	\$2,700.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	481.00	\$50.00	\$24,050.00	\$26.00	\$12,506.00	\$35.50	\$17,075.50
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	365.00	\$25.00	\$9,125.00	\$23.00	\$8,395.00	\$21.00	\$7,665.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	82.00	\$100.00	\$8,200.00	\$100.00	\$8,200.00	\$93.00	\$7,626.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	420.00	\$35.00	\$14,700.00	\$75.00	\$31,500.00	\$28.00	\$11,760.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	240.00	\$50.00	\$12,000.00	\$150.00	\$36,000.00	\$37.00	\$8,880.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$7,500.00	\$15,000.00	\$3,400.00	\$6,800.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	88.00	\$10.00	\$880.00	\$40.00	\$3,520.00	\$30.00	\$2,640.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$15,000.00	\$15,000.00	\$75,000.00	\$75,000.00	\$70,000.00	\$70,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00
618.7	FLAGGERS	HR	500.00	\$30.00	\$15,000.00	\$35.00	\$17,500.00	\$35.00	\$17,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$21,700.00	\$21,700.00

					PS&E	BUCK, T. CONSTRUCTION, INC. 302B AUBURN ROAD TURNER, ME 04282		EVROKS CORPORATION 23 INDUSTRIAL DRIVE NORTHFIELD, NH 03276	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00	\$6,000.00	\$12,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	80.00	\$3.00	\$240.00	\$4.00	\$320.00	\$5.00	\$400.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	11,600.00	\$0.20	\$2,320.00	\$0.50	\$5,800.00	\$0.50	\$5,800.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	24.00	\$5.00	\$120.00	\$5.00	\$120.00	\$44.00	\$1,056.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,118.00	\$0.75	\$1,588.50	\$1.50	\$3,177.00	\$5.00	\$10,590.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	160.00	\$6.00	\$960.00	\$5.00	\$800.00	\$6.00	\$960.00
645.531	SILT FENCE	LF	160.00	\$4.00	\$640.00	\$5.00	\$800.00	\$4.00	\$640.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,500.00	\$11,000.00	\$7,500.00	\$15,000.00	\$4,850.00	\$9,700.00
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$79,947.60	\$79,947.60	\$88,400.00	\$88,400.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00

Totals:	\$451,290.80	\$669,210.00	\$680,664.10
Alt. Totals:			
Totals:	\$451.290.80	\$669.210.00	\$680,664.10

				P	°S&E	30 BONN	TRUCTORS INC IEY STREET RT, ME 04032		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

		-						 _
203.1	COMMON EXCAVATION	CY	490.00	\$30.00	\$14,700.00	\$35.00	\$17,150.00	
304.301	CRUSHED GRAVEL	CY	36.00	\$100.00	\$3,600.00	\$163.00	\$5,868.00	
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	946.00	\$85.00	\$80,410.00	\$130.00	\$122,980.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	7.00	\$350.00	\$2,450.00	\$220.00	\$1,540.00	
403.6	PAVEMENT JOINT ADHESIVE	LF	6,042.00	\$0.40	\$2,416.80	\$0.50	\$3,021.00	
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	611.00	\$1.00	\$611.00	\$4.00	\$2,444.00	
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	27.00	\$300.00	\$8,100.00	\$140.00	\$3,780.00	
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	9.00	\$300.00	\$2,700.00	\$160.00	\$1,440.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	288.00	\$4.00	\$1,152.00	\$7.00	\$2,016.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	889.00	\$2.50	\$2,222.50	\$10.00	\$8,890.00	
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	923.00	\$5.00	\$4,615.00	\$5.00	\$4,615.00	
504.1	COMMON BRIDGE EXCAVATION (F)	CY	22.00	\$65.00	\$1,430.00	\$83.00	\$1,826.00	
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	472.00	\$30.00	\$14,160.00	\$20.00	\$9,440.00	
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	61.00	\$300.00	\$18,300.00	\$470.00	\$28,670.00	
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	38.00	\$550.00	\$20,900.00	\$1,200.00	\$45,600.00	
520.01	CONCRETE CLASS AA	CY	16.00	\$1,500.00	\$24,000.00	\$1,600.00	\$25,600.00	
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	20.00	\$1,750.00	\$35,000.00	\$2,500.00	\$50,000.00	
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	27.00	\$100.00	\$2,700.00	\$738.00	\$19,926.00	
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	481.00	\$50.00	\$24,050.00	\$60.00	\$28,860.00	
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	365.00	\$25.00	\$9,125.00	\$37.00	\$13,505.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	82.00	\$100.00	\$8,200.00	\$174.00	\$14,268.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	420.00	\$35.00	\$14,700.00	\$75.00	\$31,500.00	
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	240.00	\$50.00	\$12,000.00	\$198.00	\$47,520.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$6,000.00	\$12,000.00	
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	88.00	\$10.00	\$880.00	\$12.00	\$1,056.00	
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$15,000.00	\$15,000.00	\$45,000.00	\$45,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	
618.7	FLAGGERS	HR	500.00	\$30.00	\$15,000.00	\$40.00	\$20,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$57,000.00	\$57,000.00	

					PS&E	CPM CONSTRUCTORS INC 30 BONNEY STREET FREEPORT, ME 04032			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$7,000.00	\$14,000.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	80.00	\$3.00	\$240.00	\$9.00	\$720.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	11,600.00	\$0.20	\$2,320.00	\$1.00	\$11,600.00		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	24.00	\$5.00	\$120.00	\$10.00	\$240.00		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,118.00	\$0.75	\$1,588.50	\$4.00	\$8,472.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	160.00	\$6.00	\$960.00	\$9.00	\$1,440.00		
645.531	SILT FENCE	LF	160.00	\$4.00	\$640.00	\$6.00	\$960.00		
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,500.00	\$11,000.00	\$14,000.00	\$28,000.00		
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$80,000.00	\$80,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		

Totals:	\$451,290.80	\$798,947.00	
Alt. Totals:			
Totals:	\$451.290.80	\$798 947.00	



PS&E Comparison

OSSIPEE 41916 NON-FEDERAL

Item No.	Description		Quantity	A-Bidder		PS&E		
		Unit		Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.1	COMMON EXCAVATION	CY	490.00	\$20.00	\$9,800.00	\$30.00	\$14,700.00	(\$4,900.00)
304.301	CRUSHED GRAVEL	CY	36.00	\$40.00	\$1,440.00	\$100.00	\$3,600.00	(\$2,160.00)
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	946.00	\$110.00	\$104,060.00	\$85.00	\$80,410.00	\$23,650.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	7.00	\$190.00	\$1,330.00	\$350.00	\$2,450.00	(\$1,120.00)
403.6	PAVEMENT JOINT ADHESIVE	LF	6,042.00	\$1.10	\$6,646.20	\$0.40	\$2,416.80	\$4,229.40
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	611.00	\$3.50	\$2,138.50	\$1.00	\$611.00	\$1,527.50
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	27.00	\$190.00	\$5,130.00	\$300.00	\$8,100.00	(\$2,970.00)
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	9.00	\$190.00	\$1,710.00	\$300.00	\$2,700.00	(\$990.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	288.00	\$10.00	\$2,880.00	\$4.00	\$1,152.00	\$1,728.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	889.00	\$28.50	\$25,336.50	\$2.50	\$2,222.50	\$23,114.00
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	923.00	\$9.00	\$8,307.00	\$5.00	\$4,615.00	\$3,692.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	22.00	\$50.00	\$1,100.00	\$65.00	\$1,430.00	(\$330.00)
511.00	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	472.00	\$30.00	\$14,160.00	\$30.00	\$14,160.00	\$0.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	61.00	\$300.00	\$18,300.00	\$300.00	\$18,300.00	\$0.00

	Independent of the control of the co		1	-				
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	38.00	\$400.00	\$15,200.00	\$550.00	\$20,900.00	(\$5,700.00)
520.01	CONCRETE CLASS AA	CY	16.00	\$750.00	\$12,000.00	\$1,500.00	\$24,000.00	(\$12,000.00)
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	20.00	\$1,000.00	\$20,000.00	\$1,750.00	\$35,000.00	(\$15,000.00)
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	27.00	\$100.00	\$2,700.00	\$100.00	\$2,700.00	\$0.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	481.00	\$27.00	\$12,987.00	\$50.00	\$24,050.00	(\$11,063.00)
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	365.00	\$40.00	\$14,600.00	\$25.00	\$9,125.00	\$5,475.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	82.00	\$130.00	\$10,660.00	\$100.00	\$8,200.00	\$2,460.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	420.00	\$30.00	\$12,600.00	\$35.00	\$14,700.00	(\$2,100.00)
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	240.00	\$40.00	\$9,600.00	\$50.00	\$12,000.00	(\$2,400.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	(\$2,000.00)
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	88.00	\$8.00	\$704.00	\$10.00	\$880.00	(\$176.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$25,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$0.00
618.7	FLAGGERS	HR	500.00	\$40.00	\$20,000.00	\$30.00	\$15,000.00	\$5,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00	\$25,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$2,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	80.00	\$2.00	\$160.00	\$3.00	\$240.00	(\$80.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4"	LF	11,600.00	\$0.56	\$6,496.00	\$0.20	\$2,320.00	\$4,176.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	24.00	\$10.00	\$240.00	\$5.00	\$120.00	\$120.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,118.00	\$3.25	\$6,883.50	\$0.75	\$1,588.50	\$5,295.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	160.00	\$7.50	\$1,200.00	\$6.00	\$960.00	\$240.00
645.531	SILT FENCE	LF	160.00	\$3.00	\$480.00	\$4.00	\$640.00	(\$160.00)

Wednesday, December 4, 2019 Page 9 of 10

670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,000.00	\$10,000.00	\$5,500.00	\$11,000.00	(\$1,000.00)
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$40,000.00	\$40,000.00	\$20,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total: \$539,848.70 \$451,290.80 \$88,557.90

Wednesday, December 4, 2019 Page 10 of 10